

$$\textcircled{1} (x^2 - y^2 e^{y/x}) dx + (x^2 + xy) e^{y/x} dy = 0$$

$$\frac{dy}{dx} = \frac{y^2 e^{y/x} - x^2}{(x^2 + xy) e^{y/x}} \Rightarrow f(x,y) = \frac{x^2 y^2 e^{y/x} - x^2 x^2}{(x^2 + xy) e^{y/x}} = f(x,y)$$

↳ Homogenes
Differentialgleichung

$$v = \frac{y}{x} \Rightarrow y = vx \Rightarrow \frac{dy}{dx} = v + x \frac{dv}{dx}$$

$$\Rightarrow v + x \frac{dv}{dx} = \frac{v^2 x^2 e^{vx/x} - x^2}{(x^2 + vx^2) e^{vx/x}} = \frac{v^2 e^v - 1}{(1+v) e^v}$$

$$\Rightarrow x \frac{dv}{dx} = \frac{v^2 e^v - 1}{e^v + v e^v} - v = \frac{v^2 e^v - 1 - v e^v - v^2 e^v}{e^v (1+v)}$$

$$\Rightarrow \int \frac{e^v (1+v)}{-1 - v e^v} dv = \int \frac{dx}{x} \Rightarrow - \int \frac{du}{u} = \ln|x| + C$$

$$\begin{aligned} &\Rightarrow -\ln|1 + v e^v| = \ln|x| + C \\ &\stackrel{v = y/x}{\Rightarrow} -\ln\left|1 + \frac{y}{x} e^{y/x}\right| = \ln|x| + C \end{aligned}$$

$$\begin{aligned} 1 + v e^v &= u \\ (e^v + v e^v) dv &= du \end{aligned}$$

$$\textcircled{2} y' + 3 \frac{y}{x} = -3 \frac{e^x}{x} y^{2/3} \rightarrow \text{Bernoulli Differentialgleichung}$$

$$v = y^{1-2/3} = y^{1/3} \Rightarrow \frac{dv}{dx} = \frac{1}{3} y^{-2/3} \cdot \frac{dy}{dx} \Rightarrow \frac{dy}{dx} = 3 y^{2/3} \frac{dv}{dx}$$

$$3 y^{2/3} \frac{dv}{dx} + 3 \frac{y}{x} = -3 \frac{e^x}{x} y^{2/3}$$

$$\Rightarrow \frac{dv}{dx} + \frac{1}{x} v = -\frac{e^x}{x} \Rightarrow u(x) = e^{\int \frac{1}{x} dx} = e^{\ln x} = x$$

$$\Rightarrow \frac{d}{dx} (x \cdot v) = -e^x \Rightarrow x \cdot v = -\int e^x dx = -e^x + C$$

$$\Rightarrow x \cdot y^{1/3} = -e^x + C$$

$$\textcircled{3} y'' - \frac{y'}{x-1} = 0 \Rightarrow v = y' \Rightarrow \frac{dv}{dx} = y''$$

$$\frac{dv}{dx} = \frac{v}{x-1} \Rightarrow \int \frac{dv}{v} = \int \frac{dx}{x-1} \Rightarrow \ln|v| = \ln|x-1| + C_1$$

$$\Rightarrow |v| = |x-1| \cdot e^{C_1}$$

$$\Rightarrow v = C(x-1), C := \pm e^{C_1}$$

$$\Rightarrow \frac{dy}{dx} = C(x-1)$$

$$\Rightarrow \int dy = \int C(x-1) dx \Rightarrow y = C\left(\frac{x^2}{2} - x\right) + C_2$$

$$(4) (2xy^2 - y\sin x + 2x + 1) dx + (2x^2y + \cos x + y^3) dy = 0$$

$$M_y = 4xy - \sin x = N_x = 4xy - \sin x \rightarrow \text{Tam Dif. Benk.}$$

$$F_x = M \Rightarrow F(x, y) = \int M dx = \int (2xy^2 - y\sin x + 2x + 1) dx = x^2y^2 + y\cos x + x^2 + x + h(y) = c$$

$$\xRightarrow{F_y = N} 2x^2y + \cos x + h'(y) = 2x^2y + \cos x + \frac{1}{y}$$

$$\Rightarrow h'(y) = \frac{1}{y} \Rightarrow h(y) = \int \frac{dy}{y} = \ln|y| + c_1$$

$$\Rightarrow F(x, y) = x^2y^2 + y\cos x + x^2 + x + \ln|y| = C, \quad C := c - c_1$$

$$(5) y'' - 6y' + 9y = x + \sin 2x \rightarrow \text{Belirsiz Katsayılar Yönt.}$$

$$\alpha^2 - 6\alpha + 9 = 0 \Rightarrow (\alpha - 3)^2 = 0 \Rightarrow \alpha_1 = \alpha_2 = 3$$

$$u = (c_1 + c_2 x) e^{3x}$$

$$f_1(x) = x \rightarrow V_1 = A_0 + A_1 x$$

$$f_2(x) = \sin 2x \rightarrow V_2 = B_0 \cos 2x + C_0 \sin 2x$$

$$\Rightarrow f(x) = x + \sin 2x \rightarrow V = V_1 + V_2 = A_0 + A_1 x + B_0 \cos 2x + C_0 \sin 2x$$

$$V' = A_1 - 2B_0 \sin 2x + 2C_0 \cos 2x$$

$$V'' = -4B_0 \cos 2x - 4C_0 \sin 2x$$

$$\Rightarrow -4B_0 \cos 2x - 4C_0 \sin 2x - 6A_1 + 12B_0 \sin 2x - 12C_0 \cos 2x + 9A_0 + 9A_1 x + 9B_0 \cos 2x + 9C_0 \sin 2x = x + \sin 2x$$

$$\Rightarrow -4B_0 - 12C_0 + 9B_0 = 0 \Rightarrow \frac{12}{5}B_0 - 12C_0 = 0$$

$$-4C_0 + 12B_0 + 9C_0 = 1 \Rightarrow \frac{5}{5}C_0 + 12B_0 = 1$$

$$-144C_0 - 25C_0 = -5$$

$$C_0 = \frac{5}{169}, B_0 = \frac{12}{169}$$

$$9A_1 = 1 \Rightarrow A_1 = \frac{1}{9}$$

$$-6A_1 + 9A_0 = 0 \Rightarrow A_0 = \frac{6^2}{9 \cdot 81} = \frac{2}{27}$$

$$\Rightarrow V = \frac{2}{27} + \frac{1}{9}x + \frac{12}{169} \cos 2x + \frac{5}{169} \sin 2x$$

$$\Rightarrow y = u + V = (c_1 + c_2 x) e^{3x} + \frac{2}{27} + \frac{x}{9} + \frac{12}{169} \cos 2x + \frac{5}{169} \sin 2x$$

⑥ $y'' - 2y' + y = \frac{e^x}{1+x^2} \rightarrow$ Degişen Parametreler Yöntemi

$$\alpha^2 - 2\alpha + 1 = 0 \Rightarrow (\alpha - 1)^2 = 0 \Rightarrow \alpha_1 = \alpha_2 = 1$$

$$u = (c_1 + c_2 x) e^x \Rightarrow y_1 = e^x, y_2 = x e^x$$

$$- / v_1' e^x + v_2' x e^x = 0$$

$$+ \quad v_1' e^x + v_2' e^x + v_2' x e^x = \frac{e^x}{1+x^2}$$

$$v_2' e^x = \frac{e^x}{1+x^2} \Rightarrow v_2 = \int \frac{dx}{1+x^2} = \arctan x$$

$$v_1' e^x + \frac{x}{1+x^2} e^x = 0 \Rightarrow v_1' = -\frac{x}{1+x^2} \Rightarrow v_1 = -\int \frac{x}{1+x^2} dx$$

$$= -\int \frac{du}{2u} = -\frac{1}{2} \ln(1+x^2)$$

$$\Rightarrow v = v_1 y_1 + v_2 y_2 = -\frac{1}{2} \ln(1+x^2) e^x + x(\arctan x) e^x$$

$$\Rightarrow y = u + v = (c_1 + c_2 x) e^x - \frac{1}{2} \ln(1+x^2) e^x + x(\arctan x) e^x$$